oA JATH

202556 NFAYvAH—U—9 U-12
3F;BU—Y
(B HA] %587 : 20255 5H 258 (B)
=i | HATRESLE

#BiFEY o008 HA
3FBY—2 P
iSiE] Bd—h a—h
Xt L4 =4 it ¥ E2]
1 10000 RERRE 0 - 5 Y0LRFL—Yyp|semF—L E — F 30mF—L
2 1100  NEFC 2 = o b=y Bb0E & = H "OOE
3 12:00,  HHFFFC 6 - 0 SABFC £0LE c - D RONE
4 1300BEALEY TACY. B — 1 &HFC BDDE A = I #o0E
5 1400 LATL—Yv 5§ - 1 ¥y BEFC BODE F = G BB
5 15:000 ERRE 0 - 1 &mFC BbE B - C goDE
7 16:00
8 17:00
9 18:00
3&BY—4
HRRFC JNE&RFC JSFC  Bauecysx(y] TBRE |YLAFL-Yv| &EHFC Fitivi- Ko EFC || Bsst | /%K | JBGL
fEIFRFC mifﬁ,, o 3 — 2|lo 68 — 0|0 2 — 0| 5 — 1 - c 6 — 0|0 8 o 4 — 3] 21 28| 1
TNEFC .fﬁ 3 o 2 — 1|0 8 — 0lc 8 — 1]o 3 — 2|c 3 — 0}o 2 — 5 — of 21 26| 2
FIAFC e 0 = Bfe 1 - 2 mﬁ;;; e 1 — 3l 2 — 0 - e 2 — 3|0 1 - - 6 77
sy sxtcofle 0 — 2] 0 — 8lo 3 = 1| efA a1 - 1]e 0 - 3o 5 = 1 - e 1 - 2| 7 8] 6
=BRE [« 1 - 5]e 1 - 8|e 0 — 2|a :mz 1 pgfz%‘ e slo0 o = e 1 — 3l 1 21| 8
) LRFL— = « 2= @ = o 3 — 05 =0 “””‘Zi , 2 — 0o 3 - s 5 — 1] 15 16| 3
EHFC e 0 — 8fe 0 - 3 3 — 208 s e nl . 0 — 2 "ff{;:* 6 5 = - 8l 5
Ffr e 0 - 8fle 0 = 2[e 0 — 1 - - e 0 - 3fle 0 -5 ’*’ﬁf?: « 1 - 3 211 9
RoEFC [0 3 — 2a|le 0 - 5 - v 2 — 1]o 3 - 1|s 1 - 5 - o 3 — zsfi}. 5| 4
Y-
A B C D E F G H B | 8K | NEf
A - = o= = = = o= =
B = = = = - e _ _
c = _ _ _ - - _ _
D _ _ — - - _ _ _
£ _ _ _ _ - _ _ _
E _ _ - _ _ _ _ _
G _ - - - _ - - _
H _ _ _ _ i & =5 o
| 4 2 = = - = o =




